
 

 

 

 

 

 المناهج السعوديةمدونة 

https://eduschool40.blog 

 الموقع التعليمي لجميع المراحل الدراسية 

 في المملكة العربية السعودية

https://eduschool40.blog/


1 
 

 تمارين على الجزء الأخير من مادة رياضيات 2
Sections 4.5 & 4.6 & 4.7 & 4.8 

 
1) 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑐𝑟𝑖𝑡𝑖𝑐𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑜𝑓 𝑓(𝑥) = 𝑥3 + 3𝑥2 + 1  
 
𝐴) 𝑥 = 2,3        𝐵)  𝑥 = 1,4            𝐶)  𝑥 = −2,0             𝐷)  𝑥 = 2,5  
 
2)  𝑇ℎ𝑒 𝑐𝑟𝑖𝑡𝑖𝑐𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟 𝑓𝑜𝑟   𝑓(𝑥) =  𝑥3 + 3𝑥2 + 1   𝑖𝑠     𝑥 = 1  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒   
 
3)  𝑇ℎ𝑒 𝑐𝑟𝑖𝑡𝑖𝑐𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟𝑠 𝑓𝑜𝑟   𝑓(𝑥) =  𝑥3 + 3𝑥2 + 1   𝑎𝑟𝑒 𝑥 = 0, 2  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒   
 

4)  𝑇ℎ𝑒 𝑐𝑟𝑖𝑡𝑖𝑐𝑎𝑙 𝑛𝑢𝑚𝑏𝑒𝑟 𝑓𝑜𝑟   𝑓(𝑥) = 3 𝑥2 + 6𝑥 + 1   𝑖𝑠     𝑥 = −1  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
 

5)  𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑖𝑛𝑖𝑚𝑢𝑚  𝑜𝑓  𝑓(𝑥) = 𝑥3 + 3𝑥2 + 1, 𝑜𝑛 [−4,4] 
 
𝐴) 𝑥 = −4                         𝐵)  𝑥 = 4                  
   𝐶)  𝑥 = −2                  𝐷)  𝑁𝑜 𝑎𝑛𝑠𝑤𝑒𝑟  
 
 
6)  𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑎 𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑎𝑥𝑖𝑚𝑢𝑚  𝑜𝑓  𝑓(𝑥) = 𝑥3 + 3𝑥2 + 1, 𝑜𝑛 [−3,3] 
 
𝐴) 𝑥 = −4         𝐵)  𝑥 = 4                    𝐶)  𝑥 = −2                  𝐷)  𝑥 = 3  
 
 

7) 𝑅𝑜𝑙𝑙𝑒’𝑠 𝑇ℎ𝑒𝑜𝑟𝑒𝑚 𝑐𝑎𝑛 𝑏𝑒 𝑎𝑝𝑝𝑙𝑖𝑒𝑑 𝑡𝑜 𝑓(𝑥) = (𝑥 − 3)(𝑥 + 1)2,  
𝑜𝑛   [−1,1]. 

𝐴)𝑇𝑟𝑢𝑒                       𝐵)  𝐹𝑎𝑙𝑠𝑒 

8) 𝑀𝑒𝑎𝑛 𝑉𝑎𝑙𝑢𝑒 𝑇ℎ𝑒𝑜𝑟𝑒𝑚 𝑐𝑎𝑛 𝑏𝑒 𝑎𝑝𝑝𝑙𝑖𝑒𝑑 𝑡𝑜 𝑓(𝑥) = 𝑥3 − 𝑥2 − 2𝑥, 
 𝑜𝑛 [−1,1] 
  

 𝐴)𝑇𝑟𝑢𝑒                             𝐵)  𝐹𝑎𝑙𝑠𝑒 
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9)  𝑓(𝑥) = 2𝑥3 − 4𝑥2 + 1  𝑖𝑠 𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙𝑠  

𝐴)(−∞, 0)            𝐵) (−2,0)            𝐶) (0,
4
3)              𝐷)(−∞, 0) ∪ (

4
3 , ∞) 

10) 𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) = 𝑥2 + 9   𝑖𝑠 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙 (−∞, 0)  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
 
11) 𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) = 𝑥2 + 9 𝑖𝑠 𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙 (−∞, 0)  
    

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
 
12)  𝑓(𝑥) = 𝑥3 − 3𝑥2 + 7  𝑖𝑠 𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙𝑠  

𝐴)(0,5)            𝐵) (−∞, −1)            𝐶)(−1,5)             𝐷)(0,2) 

 
13)  𝑓(𝑥) = 𝑥3 − 3𝑥2  𝑖𝑠 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙  

𝐴)(2,3)            𝐵) (−∞, 0)            𝐶)(0,2)             𝐷)(−∞, 0) ∪ (2, ∞) 

 
 
14) 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙𝑠 𝑜𝑓 𝑐𝑜𝑛𝑐𝑎𝑣𝑖𝑡𝑦 𝑑𝑜𝑤𝑛 𝑜𝑓 𝑓(𝑥) =  𝑥3 − 7. 
 
𝐴) (7, ∞)              𝐵)   (−∞, 0)                  𝐶)    (0,1)                        𝐷)  (0, ∞) 
 
15) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥)  = 𝑥3 − 3𝑥2 + 7   𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑢𝑝 𝑜𝑛 

 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙 (−∞, 2)  

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒     

16) 𝑓(𝑥) = 5𝑥3 + 30𝑥2 + 𝑥 + 1  𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 𝑜𝑛 (−∞, −2)  
  
                                                       𝐴)𝑇𝑟𝑢𝑒                       𝐵) 𝐹𝑎𝑙𝑠𝑒 
 
17) 𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑓(𝑥) =  𝑥3 − 3𝑥2 + 4 𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑖𝑡𝑦 𝑑𝑜𝑤𝑛 
 𝑜𝑛 (−∞, 0)   
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
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18) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 𝑥3 − 2𝑥2 − 2 𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑢𝑝 𝑜𝑛 (
2
3 , ∞)    

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒   

 

19) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) =
𝑥2 + 1
𝑥2 − 4  𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 𝑜𝑛 𝑡ℎ𝑒 

    𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙𝑠   
 
𝐴)(−1, −2)                    𝐵) (−∞, −2)                           𝐶)(2, ∞)                   𝐷)(−2,2) 
 

 
20) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 𝑥4 + 𝑥3 − 3𝑥2 + 1 𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 

 𝑜𝑛  (−1,
1
2)  

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒    

21) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 𝑥4 − 6𝑥2 + 8𝑥 + 10 𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑢𝑝 

 𝑜𝑛  (−1,1)  

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒    

 
22) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 2𝑥3 − 9𝑥2 − 24  𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 𝑜𝑛 
      (−∞, − 3

2
)  

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒    

 
23) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 3𝑥3 + 9  𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 𝑜𝑛    
 
𝐴)(1, ∞)                    𝐵) (0,2)                           𝐶)(0, ∞)                   𝐷)(−∞, 0) 
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24) 𝑇ℎ𝑒 𝑓𝑢𝑛𝑐𝑡𝑖𝑜𝑛 𝑜𝑓 𝑓(𝑥)  =  2𝑥3 + 9𝑥2 − 24 𝑖𝑠 𝑐𝑜𝑛𝑐𝑎𝑣𝑒 𝑑𝑜𝑤𝑛 

 𝑜𝑛  (−∞, −
3
2) . 

 
𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 

 
25) 𝐹𝑖𝑛𝑑 𝑡ℎ𝑒 𝑖𝑛𝑡𝑒𝑟𝑣𝑎𝑙𝑠 𝑜𝑓 𝑐𝑜𝑛𝑐𝑎𝑣𝑖𝑡𝑦 𝑢𝑝 𝑜𝑓 𝑓(𝑥) =  𝑥3 + 15. 
 
𝐴) (0, ∞)              𝐵)   (−∞, 0)                  𝐶)    (0,1)                        𝐷)  (0,3) 
 
 
 
26) 𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) =

𝑥
𝑥2 − 1

 ℎ𝑎𝑠 𝑎 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝑖𝑛𝑓𝑙𝑒𝑐𝑡𝑖𝑜𝑛 
 𝑎𝑡 (−1,1)  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
27)  𝑇ℎ𝑒 𝑔𝑟𝑎𝑝ℎ 𝑜𝑓  𝑓(𝑥) = 𝑥

𝑥2−1
 ℎ𝑎𝑠 𝑎 𝑝𝑜𝑖𝑛𝑡 𝑜𝑓 𝑖𝑛𝑓𝑙𝑒𝑐𝑡𝑖𝑜𝑛 𝑎𝑡 

 𝑥 = −1  
 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
 
 
 
𝟐𝟖 − 𝟑𝟓)   𝑼𝒔𝒆 𝒕𝒉𝒆 𝒈𝒓𝒂𝒑𝒉 𝒐𝒇  𝒚 = 𝒇(𝒙) 𝒕𝒐 𝒂𝒏𝒔𝒘𝒆𝒓 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈: 
 
 
 
 
 
 
 
 
 
  
 
 
28)       𝑦 = 𝑓(𝑥)  𝑖𝑠 𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛. 
 

𝐴) (−2, −1)  ∪ (0,1) ∪ (2,3)               𝐵)  (−∞, −1)  ∪ (1, ∞)    
     𝐶) (−∞, −1)  ∪ (2, ∞)                          𝐷) (−∞, −1)    
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29)   𝑦 = 𝑓(𝑥)  ℎ𝑎𝑠 𝑎𝑛  𝑖𝑛𝑓𝑖𝑛𝑖𝑡𝑒  𝑑𝑖𝑠𝑐𝑜𝑛𝑡𝑖𝑛𝑖𝑡𝑦 𝑎𝑡  𝑥 = 1. 
 

𝐴)  𝑇𝑟𝑢𝑒                      𝐵)  𝐹𝑎𝑙𝑠𝑒                      
 
30)  𝑇ℎ𝑒 𝑎𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑎𝑥𝑖𝑚𝑢𝑚  𝑣𝑎𝑙𝑢𝑒  
 
𝐴) 𝑥 = 3          𝐵) 𝑥 = −3          𝐶)𝑥 = −1                𝐷)𝑥 = 0 
 
31)  𝑇ℎ𝑒 𝑙𝑜𝑐𝑎𝑙 𝑚𝑎𝑥𝑖𝑚𝑢𝑚  𝑣𝑎𝑙𝑢𝑒𝑠   
 
𝐴) 𝑥 = 1          𝐵) 𝑥 = −1,2          𝐶)𝑥 = −3,1                𝐷)𝑥 = −2,0,2 
 
32)   𝑦 = 𝑓(𝑥)  ℎ𝑎𝑠 𝑎 𝑗𝑢𝑚𝑝  𝑑𝑖𝑠𝑐𝑜𝑛𝑡𝑖𝑛𝑖𝑡𝑦 𝑎𝑡  𝑥 = 1. 
 

𝐴)  𝑇𝑟𝑢𝑒                      𝐵)  𝐹𝑎𝑙𝑠𝑒        
 
33)       𝑦 = 𝑓(𝑥)  𝑖𝑠 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛. 
 
𝐴) (−2, −1)  ∪ (0,1) ∪ (2, ∞)           𝐵)  (−∞, −1)  ∪ (1, ∞)    
𝐶) (−∞, −1)  ∪ (2, ∞)                       𝐷) (−3, −2)  ∪ (−1,0) ∪ (1,2)   
 
34)  𝑇ℎ𝑒 𝑎𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑖𝑛𝑚𝑢𝑚 𝑣𝑎𝑙𝑢𝑒  
 
𝐴) 𝑥 = −3          𝐵) 𝑥 = 2          𝐶) 𝑥 = −2                𝐷) 𝑥 = −1 
 
 
35)  𝑡ℎ𝑒 𝑙𝑜𝑐𝑎𝑙  𝑚𝑚𝑖𝑛𝑚𝑢𝑚 𝑣𝑎𝑙𝑢𝑒   
 
𝐴) 𝑥 = 1          𝐵) 𝑥 = −1          𝐶) 𝑥 = −3                   𝐷) 𝑥 = −2,0,2 
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𝟑𝟔 − 𝟒𝟑)   𝑼𝒔𝒆 𝒕𝒉𝒆 𝒈𝒓𝒂𝒑𝒉 𝒐𝒇  𝒚 = 𝒇(𝒙) 𝒕𝒐 𝒂𝒏𝒔𝒘𝒆𝒓 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈: 
 
 

 
 
 
 
 
 
 
   
 
36)  𝑦 = 𝑓(𝑥)  𝑖𝑠 𝑑𝑒𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 
 
𝐴) (𝑎, 𝑏)  ∪ (𝑐, 𝑑)    𝐵)  (𝑏, 𝑐)  ∪ (𝑑, 𝑒)     𝐶) (𝑎, 𝑒)          𝐷)  𝑛𝑜𝑛𝑒   
 
 
37)   𝑇ℎ𝑒  𝑙𝑜𝑐𝑎𝑙 𝑒𝑥𝑡𝑟𝑒𝑚𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑎𝑟𝑒  
 
𝐴) 𝑥 = 𝑏, 𝑐, 𝑑        𝐵)  𝑥 = 𝑎, 𝑑               𝐶) 𝑥 = 𝑏, 𝑒       𝐷) 𝑥 = 𝑒, 𝑎    
                  
 
38)  𝑇ℎ𝑒 𝑙𝑜𝑐𝑎𝑙 𝑚𝑎𝑥𝑖𝑚𝑢𝑚 𝑝𝑜𝑖𝑛𝑡𝑠 𝑎𝑟𝑒 
 
𝐴) 𝑥 = 𝑎, 𝑐, 𝑒            𝐵) 𝑥 = 𝑐                     𝐶) 𝑥 = 𝑎, 𝑒        𝐷) 𝑥 = 𝑏, 𝑑 
 
 
39)  𝑇ℎ𝑒 𝑎𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑎𝑥𝑖𝑚𝑢𝑚 𝑝𝑜𝑖𝑛𝑡𝑠 𝑎𝑟𝑒 
 
𝐴) 𝑥 = 𝑏, 𝑑                𝐵) 𝑥 = 𝑑                    𝐶) 𝑥 = 𝑐, 𝑎         𝐷) 𝑥 = 𝑎 
 

   
40)       𝑦 = 𝑓(𝑥)  𝑖𝑠 𝑖𝑛𝑐𝑟𝑒𝑎𝑠𝑖𝑛𝑔 𝑜𝑛 
 
𝐴) (𝑎, 𝑏)  ∪ (𝑐, 𝑑)    𝐵)  (𝑏, 𝑐)  ∪ (𝑐, 𝑒)     𝐶) (𝑎, 𝑒)          𝐷)  𝑛𝑜𝑛𝑒   
 
 
 
 



7 
 

 
 
41)   𝑇ℎ𝑒  𝑒𝑥𝑡𝑟𝑒𝑚𝑒 𝑝𝑜𝑖𝑛𝑡𝑠 𝑎𝑟𝑒  
 
𝐴) 𝑥 = 𝑏, 𝑐      𝐵)  𝑥 = 𝑎, 𝑑        𝐶) 𝑥 = 𝑏, 𝑒       𝐷) 𝑛𝑜𝑛𝑒                     
 
42)  𝑇ℎ𝑒 𝑙𝑜𝑐𝑎𝑙 𝑚𝑖𝑛𝑖𝑚𝑢𝑚 𝑝𝑜𝑖𝑛𝑡𝑠 𝑎𝑟𝑒 
 
𝐴) 𝑥 = 𝑎, 𝑐, 𝑒           𝐵) 𝑥 = 𝑐                      𝐶) 𝑥 = 𝑎, 𝑒        𝐷) 𝑥 = 𝑏, 𝑑 
 
43)  𝑇ℎ𝑒 𝑎𝑏𝑠𝑜𝑙𝑢𝑡𝑒 𝑚𝑎𝑥𝑖𝑚𝑢𝑛 𝑝𝑜𝑖𝑛𝑡 𝑖𝑠 
 
𝐴) 𝑥 = 𝑏                 𝐵) 𝑥 = 𝑑                       𝐶) 𝑥 = 𝑐            𝐷) 𝑥 = 𝑎 
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Integrals 
 

1)  𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒  ∫ 𝑒3 𝑥   𝑑 𝑥 =  
𝐴) 3𝑒3𝑥 + 𝑐      𝐵)   𝑒3𝑥 + 𝑐    

 𝐶)     
𝑒3𝑥 

3 + 𝑐                     𝐷) 
𝑒3𝑥 + 𝑐

𝑥      
 

3) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒            ∫    𝑥4 
1

−1
 𝑑𝑥      

𝐴)   5                      𝐵) 2                              𝐶) 
2
5                                   𝐷) 0 

 

3) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒     ∫     4𝑥
1

0
    𝑑𝑥  

𝐴)   
4

𝑙𝑛 4                        𝐵)  𝑙𝑛 4                        𝐶)   
2

𝑙𝑛 4                             𝐷)    
3

𝑙𝑛 4 

 

4) ∫ csc(7𝑥) cot(7𝑥) 𝑑𝑥 

          

         𝐴)  𝑐𝑜𝑡 7𝑥 +  𝑐                                   𝐵)
1
7  𝑐𝑠𝑐 𝑥  𝑐𝑜𝑡 𝑥 + 𝑐      

𝐶) − 
1
7 𝑐𝑠𝑐 7𝑥  +  𝑐                           𝐷) −  𝑐𝑜𝑡 𝑥 + 𝑐                   

 

5) ∫    
1
6 𝑒𝑥 

𝑙𝑛 7

0

𝑑𝑥 =    

A) 1                     𝐵)     4                              𝐶)     6                       𝐷)    42/𝑙𝑛 7    
 

6) ∫ 𝑠𝑖𝑛𝑥 𝑑𝑥
2𝜋

0
= 0 

𝐴) 𝑇𝑟𝑢𝑒                        𝐵) 𝐹𝑎𝑙𝑠𝑒   
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7) ∫(𝑠𝑖𝑛2𝑥 + 𝑐𝑜𝑠2𝑥) 𝑑𝑥 = 𝑥 + 𝑐 

𝐴) 𝑇𝑟𝑢𝑒                       𝐵) 𝐹𝑎𝑙𝑠𝑒 

8) ∫   3 sin 2 𝑥    𝑑 𝑥    =      

𝐴) −
3
2 cos 2𝑥 + 𝑐       𝐵) cos

2
3 𝑥 + 𝑐      𝐶) sin 2𝑥  + 𝑐     𝐷)    cos 3𝑥

+ 𝑐       
     

9) ∫(𝑥2 − 5)4    (2𝑥)     𝑑 𝑥  

𝐴)  2𝑥 + 𝑐           𝐵)  𝑥 + 𝑐       

 𝐶)    
(𝑥2 − 5)5

5 + 𝑐              𝐷)(𝑥2 − 5)4 + 𝑐   

 

10)    ∫ 𝑠𝑒𝑐2  7 𝑥     𝑑𝑥 =  
tan 7𝑥

7  + 𝑐 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒         

 

11)    ∫ 𝑐𝑠𝑐2  4 𝑥     𝑑𝑥 =  
tan 4𝑥

4  + 𝑐 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒         

 
 

12) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒            ∫    𝑥3 
1

−1
 𝑑𝑥  

𝐴)   0                     𝐵) 3                              𝐶) 
1
3                                   𝐷) 4 
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13) ∫ 𝑐𝑜𝑠 𝑥 𝑑𝑥
𝜋
2

0
= −1 

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒   

14) ∫(𝑠𝑖𝑛2𝑥 + 𝑐𝑜𝑠2𝑥) 𝑑𝑥 = 

𝐴) 1               𝐵) 0                     𝑐) 
𝑥2

2  + 𝑐     𝐷)    𝑥 + 𝑐  

15) ∫   6 cos 5 𝑥    𝑑 𝑥    =      

𝐴) −
6
5 cos 2𝑥 + 𝑐       𝐵) sin

6𝑥
5 + 𝑐        𝐶) 

6 sin 5𝑥
5  + 𝑐     𝐷)    cos 5𝑥

+ 𝑐       
     

16) ∫(𝑥2 + 10)9    (2𝑥)     𝑑 𝑥  

𝐴)  5𝑥 + 𝑐                                           𝐵)  𝑥 + 𝑐      

  𝐶)    
(𝑥2 − 5)10

10 + 𝑐              𝐷)(𝑥2 − 10)9 + 𝑐   

 
 

17) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒     ∫     2𝑥
1

0
    𝑑𝑥  

𝐴)   
2

𝑙𝑛 2                        𝐵)  𝑙𝑛 2                        𝐶)   
1

𝑙𝑛 2                             𝐷)    
3

𝑙𝑛 2 

 

18) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒            ∫    𝑥9 
1

−1
 𝑑𝑥  

𝐴)  10                     𝐵) − 9                              𝐶) 0                                  𝐷) 9 
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19)    ∫ 4 𝑐𝑜𝑡  4 𝑥     𝑑𝑥 =  ln sin 4𝑥  + 𝑐 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒         

 
 

20) 𝐸𝑣𝑎𝑙𝑢𝑎𝑡𝑒     ∫     11𝑥
1

0
    𝑑𝑥  

𝐴)   
2

𝑙𝑛 11                    𝐵)  𝑙𝑛 11                      𝐶)   
10

𝑙𝑛 11                           𝐷)    
1

𝑙𝑛 11 

 
 

21) ∫ (𝑥−1
3 + 𝑥

5
3) 𝑑𝑥 = 

        

𝐴) 𝑥
1
3 + 𝑥

5
3 + 𝑐                          𝐵)

3
2  𝑥

1
3 +

3
2 𝑥

5
3 + 𝑐   

 𝐶) 
3
2 𝑥

2
3 +

3
8 𝑥

8
3 + 𝑐                 𝐷) 

2
3 𝑥

2
3 +

8
3 𝑥

8
3 + 𝑐  

 
 

22)     ∫  𝑒𝑥 
𝑙𝑛 2

0

   𝑑𝑥 =    

A) − 1                   𝐵)     1                              𝐶)     2                       𝐷)    1/𝑙𝑛 3    
   
 

23) ∫ 𝑡𝑎𝑛 𝑥 𝑑𝑥
𝜋
2

0
= 0 

𝐴) 𝑇𝑟𝑢𝑒                                 𝐵) 𝐹𝑎𝑙𝑠𝑒   

24)  ∫ 9 𝑡𝑎𝑛  9 𝑥     𝑑𝑥 =  ln sin 9𝑥  + 𝑐 

𝐴) 𝑇𝑟𝑢𝑒                          𝐵) 𝐹𝑎𝑙𝑠𝑒 
 

 




































